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The following table shows the weights of89 persons in a group. Find themode weight.
Weight (in kg) (40 -48|49-57|58-66|67-75|76-84|85-93|94-102
No. of persons 15 8 6 18 16 14 12

G 1053, 1067 0520 1041, o 1039
14 0 14 0 7 9 14 0 14 0

The following table shows the weights of 66 persons in a group. Find themode weight.
Weight (in kg) | 20-25|25-30|30-35|35-40|40-45[45-50
No. of persons 9 6 5 19 13 14

(i) Z|< (i) ﬂ|< (iii) 39kg (iv) 7—9k
|zg||29||| g|vzg

The daily wages of 106 workers in a factory are given below.Find themode wage.
Wage (in rupees) |30-37|38-45|46-53|54-61|62-69|70-77|78-85
No. of workers 5 5 22 24 19 20 11

(i) X¥55.93 (ii) X55.86 (iii)) X55.79 (iv) X56.79 (v) X57.79

The daily wages of 108 workers in a factory are given below. Find themode wage.
Wage (in rupees) |30-38|38-46|46-54|54-62|62-70
No. of workers 20 30 12 18 28

(i) X40.86 (ii) X41.00 (iii)) X42.86 (iv) X41.14 (v) X41.86

A frequency distribution table is given below.Find the mode .
Class-Interval |11 - 18|19-26(27-34|35-42|43-50|51-58|59-66
Frequency 22 38 24 24 4 43 30

(0) 117 iy 57 (i) 115 (iv) _113
[ > ii iii > iv >

A frequency distribution table is given below. Find themode .
Class-Interval |8 - 18|18 - 28|28 -38|38-48|48-58

Frequency 36 13 41 38 27
(0) 1210 (i) 1179 (i) 1149 (iv) 1150 W) 1148
i i i) — (iv Y
31 31 31 31 31

The following frequency distribution table givesthe monthly consumption of electricity of 64

consumers in a locality. Find the mode units.

Monthly consumption (in units) |60-70(70-80|80-90|90-100(100-110
No. of consumers 9 6 11 25 13

1253 . 1240 Lo 1242 . 1266 . 1241 .
(i) - units (ii) units (iii) - units (iv) units (v) - units
13 13 13 13 13
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